PHILIPS

INSTALLATION INSTRUCTIONS | & carpco

A819505-B

DESIGNER FLOOD LUMINAIRE DFL7/DFC7 | ot s

IMPORTANT: READ ALL INSTRUCTIONS BEFORE PERFORMING ANY WORK. BE SURE ALL
POWER IS OFF PRIOR TO INSTALLING LUMINAIRES.

WARNING: FIXTURE MUST BE GROUNDED IN ACCORDANCE WITH APPROPRIATE CODES.
FAILURE TO DO SO MAY RESULT IN SERIOUS INJURY.

FIXTURE IS APPROVED FOR ABOVE GRADE INSTALLATIONS ONLY

TAB: TWIN ARM BRACKET

1.SECURE TWIN ARM ASSEMBLY
TO STANCHION OR POLE TOP T T
ADAPTOR TENON WITH ARM m —\¥

SET SCREWS. COVER PLATE
2.REMOVE COVER PLATE.
3.FOR POLE INSTALLATIONS,
STRAIN RELIEVE SUPPLY
WIRES BY INSERTING THE
WIRE TIE THROUGH A LOOP
OF SUPPLY WIRE.THE WIRE
TIE IS TO ENCIRCLE THE
SUPPLY WIRES WHERE THE
LOOP OVERLAPS OR POLE 0P ADAPTOR
4.MAKE TWIN ARM ELECTRICAL

SPLICES
(BY OTHERS)

ARM MOUNTING
INSERT

CONNECTIONS.SUPPLY LINE
TO BOTH ARM LINES,COMMON TO ARM COMMONS AND GROUND TO ARM GROUNDS.
S5.RELOCATE SPLICES INTO ARM.REPLACE COVER PLATE.

6.REMOVE SPLICE COVER AND
GTaCES CLAMP FROM SWIVEL ASSEMBLY
OF FIRST FIXTURE.PLACE FIXED

. CLAMP ON TOP OF ARM SO THAT

COVER IT ENGAGES THE ARM MOUNTING
INSERT FLANGE.ROUTE FIXTURE

— AND ARM WIRES THROUGH CLAMP

SECURE CLAMP TO SWIVEL
e ASSEMBLY WITH 1/4—20 BOLTS
PREVIOUSLY REMOVED,BUT DO
NetroN™e 1 NOT FULLY TIGHTEN.

SWIVEL
MOUNTING
COVER

7MAKE ELECTRICAL CONNECTIONS BETWEEN FIXTURE AND ARM.ARM LINE TO FIXTURE LINE,
COMMON TO COMMON AND GROUND TO GROUND.

8. AIM THE FIXTURE BY LOOSENING THE 3/8-16 BOLT IN THE CENTER OF THE SWIVEL
MOUNTING COVER.EACH MARK ON THE MOUNTING COVER INDICATES 15 .THE INTERNAL
TEETH LOCK EVERY 5 .TIGHTEN SWIVEL AND CLAMP BOLTS WHEN AIMING IS COMPLETE.

pH I I.I ps Philips Lighting North America Philips Lighting Canada Ltd.
Corporation 281 Hillmount Road,
200 Franklin Square Drive Markham ON, Canada L6C 2S3

Somerset, NJ 08873, USA




INSTALLATION INSTRUCTIONS
DESIGNER FLOOD LUMINAIRE DFL7/DFC7

PHILIPS
& GARDCO

A819505-B
SHEET 20F 3

© 2016 Philips Lighting Holding B.V. All rights reservex

9. SECURE SPLICE CO¥ER TO CLAMP WITH SCREW PREVIOUSLY REMOVED.
10. INSTALL SECOND FIXTURE BY FOLLOWING INSTRUCTIONS 6 THROUGH 10.

PT2: TWIN POLE TOP ADAPTER

1.SECURE TWIN ADAPTOR TO POLE TENON WITH
TWIN ADAPTOR SET SCREWS.
2.REMOVE ADAPTOR COVER.
3.INSERT 25 INCH WIRE JUMPERS (BY OTHERS)
FOR LINE,COMMON AND GROUND THROUGH ONE
SIDE OF THE TWIN ADAPTOR AND OUT THE
OTHER.PULL SUPPLY WIRES FROM POLE OUT OF
ONE SIDE OF THE TWIN ADAPTOR.
4 REMOVE SPLICE COVER AND CLAMP FROM
SWIVEL ASSEMBLY OF FIRST FIXTURE.REST FIXED
CLAMP ON TWIN ADAPTOR TENON WHERE BOTH
JUMPER AND SUPPLY WIRES EXTEND OUT.ROUTE
WIRES THROUGH CLAMP.SECURE CLAMP TO SWIVEL
ASSEMBLY WITH 1/4—20 BOLTS PREVIOUSLY
REMOVED,BUT DO NOT FULLY TIGHTEN.
5.FORM A LOOP WITH SUPPLY WIRES.ENCIRCLE
THE SUPPLY WIRES WITH THE WIRE TIE WHERE
THE WIRES OVERLAP (AS SHOWN).SLIDE LOOP
OVER CENTER BOSS OF CLAMP TO PROVIDE
STRAIN RELIEF FOR SUPPLY WIRES.ROTATE
FIXTURE SO THAT LENS FACES DOWNWARD.
6.MAKE ELECTRICAL CONNECTIONS.SUPPLY LINE TO
FIXTURE LINE AND JUMPER LINE,SUPPLY COMMON
TO FIXTURE AND JUMPER COMMON AND SUPPLY
GROUND TO FIXTURE AND JUMPER GROUND.

7.AIM THE FIXTURE BY LOOSENING THE 3/8-16
BOLT IN THE CENTER OF THE SWIVEL MOUNTING
COVER.EACH MARK ON THE SWIVEL MOUNTING
COVER INDICATES 15 °. THE INTERNAL TEETH LOCK
EVERY 5°.TIGHTEN SWIVEL AND CLAMP BOLTS
WHEN AIMING IS COMPLETE.

9.REPLACE ADAPTOR COVER.

INSTRUCTIONS THAT REFER TO SUPPLY WIRES.

ADAPTOR COVER

SWIVEL
MOUNTING
COVER

SPLICES
(BY OTHERS)

WIRE TIE

T

8.SECURE SPLICE COVER TO CLAMP WITH SCREW PREVIOUSLY REMOVED.

10.INSTALL SECOND FIXTURE BY FOLLOWING INSTRUCTIONS 4 THROUGH 9 OMITING

Somerset, NJ 08873, USA

pH I I.l ps Philips Lighting North America Philips Lighting Canada Ltd.

Corporation 28| Hillmount Road,
200 Franklin Square Drive Markham ON, Canada L6C 2S3




PHILIPS

INSTALLATION INSTRUCTIONS | & caroco

A819505-B

DESIGNER FLOOD LUMINAIRE DFL7/DFC7 | csone sy oo

PTA:POLE TOP ADAPTOR

1.SECURE POLE ADAPTOR TO
POLE TENON WITH ADAPTOR
SET SCREWS.

2.PULL SUPPLY WIRES FROM
POLE AND OUT OF ADAPTOR.

SPLICES
(BY OTHERS)

3.REMOVE SPLICE COVER AND SPLICE
CLAMP FROM SWIVEL COVER
ASSEMBLY.PLACE FIXED

CLAMP AGAINST POLE

ADAPTOR TENON.ROUTE

SUPPLY AND FIXTURE WIRES —

THROUGH CLAMP.SECURE
CLAMP TO SWIVEL ASSEMBLY
WITH 1/4—20 BOLTS
PREVIOUSLY REMOVED,BUT
DO NOT FULLY TIGHTEN.

4.FORM A LOOP WITH SUPPLY Mgm\l\/ﬁhG WIRE TIE
WIRES.ENCIRCLE THE SUPPLY
WIRES WITH THE WIRE TIE COVER CLAMP
WHERE THE WIRES OVERLAP
(AS SHOWN).SLIDE LOOP

OVER CENTER BOSS OF

CLAMP TO PROVIDE STRAIN RELIEF FOR SUPPLY WIRES.

5.MAKE ELECTRICAL CONNECTIONS.SUPPLY LINE TO FIXTURE LINE,COMMON TO COMMON
AND GROUND TO GROUND.

6.AIM THE FIXTURE BY LOOSENING THE 3/8-16" BOLT IN THE CENTER OF THE SWIVEL
MOUNTING COVER. EACH MARK ON THE MOUNTING COVER INDICATES 15° .THE INTERNAL
TEETH LOCK EVERY 5°.TIGHTEN SWIVEL AND CLAMP BOLTS WHEN AIMING IS COMPLETE.
7.SECURE SPLICE COVER TO CLAMP WITH SCREW PREVIOUSLY REMOVED.

pH I I.I pS Philips Lighting North America Philips Lighting Canada Ltd.
Corporation 281 Hillmount Road,

200 Franklin Square Drive Markham ON, Canada L6C 2S3
Somerset, NJ 08873, USA




